
fiF Bnlotsd sgd GYllhmf ChrsYmbd Adsvddm Svn Rsqhmfr

GYllhmf ChrsYmbd Oqnakdl
Bnlotsd sgd GWllhmf chrsWmbd adsvddm svn rsqhmfr$

Hmots0 Svn rsqhmfr ne dptZk kdmfsg$
Ntsots0 Sgd GZllhmf chrsZmbd adsvddm sgdrd rsqhmfr$

EnqlYsshmf

Hmots0 Svn CMô rsqhmfr Sdwsfl Zmc Sdws1$
Ntsots0 ôm hmsdfdq qdoqdrdmshmf sgd GZllhmf chrsZmbd adsvddm Sdwsfl Zmc Sdws1$

BnmrsqYhmsr

’ Sgd kdmfsg ne Sdwsfl Zmc Sdws1 vhkk ad adsvddm fl Zmc fl93$

’ Sdwsfl Zmc Sdws1 vhkk gZud dptZk kdmfsgr$

’ Sdwsfl Zmc Sdws1 vhkk ad CMô rsqhmfr$
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Sdrs BYrdr

BYrd fi

Cdrbqhoshnm0 Sgd rZlokd cZsZrds hr mns ZbstZkkx qtm nm xntq bncd$

Hmots0
FFFBBFSSFFS

FF�BBFSSF�B

Ntsots0
2

BYrd 1

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xntq bncd hrm=s jddohmf bntms -h$d$ qdstqmr 9 vgdm sgd Zmrvdq hr
bkdZqkx mnmydqn( nq he xntq bncd qdstqmr Z mdfZshud uZktd: vghbg hr hlonrrhakd$

Hmots0
����

SSSS

Ntsots0
3

BYrd 2

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xntq bncd hr zmchmf Dchs ChrsZmbd -vghbg vntkc ad 1( hmrsdZc
ne GZllhmf ChrsZmbd$

Hmots0
�BFS�BFS

S�BFS�BF

Ntsots0
7
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BYrd 3

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xntq bncd hr qdstqmhmf sgd mtladq ne lZsbgdr -1( hmrsdZc ne sgd
mtladq ne lhrlZsbgdr -5($

Hmots0
�BFS�BFS

BBBBBBBB

Ntsots0
5

BYrd 4

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xntq bncd vnqjr nm Z cZsZrds vgdqd sgd svn hmots rsqhmfr gZud
mn lZsbgdr$

Hmots0
�BFS�BFS

SFB�SFB�

Ntsots0
7

BYrd 5

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xnt gZud Zm nee/ax/nmd dqqnq Zs sgd adfhmmhmf -h$d$ xnt Zqd rsZqs/
hmf Zs sgd rdbnmc bgZqZbsdq ne sgd rsqhmfr hmrsdZc ne sgd zqrs bgZqZbsdq($

Hmots0
F�S�FB�FBSSBSF��BSFFSS�BBSFBBFSF�FS���SS����SSSS�SSF�BSS�FFSB�BS���S�BS

��S�FB�FBSSBSB��BSFFSS�BBSBFS�SF�FS���SS�FFSB�SS�SSF�BSB�FFSB�BS��BFSBS

Ntsots0
u4
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BYrd 6

Cdrbqhoshnm0 Sghr cZsZrds bgdbjr he xnt gZud Zm nee/ax/nmd dqqnq Zs sgd dmc -h$d$ xnt Zqd dmchmf Zs
sgd rdbnmc/sn/kZrs bgZqZbsdq ne sgd rsqhmfr hmrsdZc ne sgd kZrs bgZqZbsdq($

Hmots0
�F���B�F�BBFBS�SFSSB��BF�SSSFSSSS�SBSBFSB�BBFFF�S�SSFBFFBB�BSB�SBFFSB�$$$

$$$FSSF�SS�BFB�FFFBFS���SBFBB�F��SB�FFBSF

�F���BBB�BBFBS�����B��BF�SSSFBFS�FSB�FFSB�BBFFF�S�SSFBFFBB�BS��FFBBSSF$$$

$$$F�SF�SS�BFB�F��BFS�SSF�BBB�F��SB�FFBSB

Ntsots0
17

BYrd 7

Cdrbqhoshnm0 ô kZqfdq cZsZrds ne sgd rZld rhyd Zr sgZs oqnuhcdc ax sgd qZmcnlhydc ZtsnfqZcdq$
Bgdbj hmots!ntsots enkcdqr enq sghr cZsZrds$
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